For More Visit VU Answer

ENG101 Final Term Papers By Waqar (File 1)

Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Fill in the blank with appropriate connector.

Readily soluble in sulfuric and nitric acid, mercury is birth defects can easily result from its ingestion by pregnant women.

|Answer ( Please select your correct option ) v'l 1 A n Smens COom

so poisonous that

such poisonous that

too poisonous that

very poisonous that

YDade by: Yy/aqar Siddh

Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Read the cause in the given situation and choose the effect.

Iran as fast as I could, passing all the other runners in the race. I wasn't even tired, either.

Answer ( Please select your correct option ) v]'l A ial swens COOm

Iwon the race.

I came in last place in the race.

I decided to run the last lap of the race again.

I stopped at the store for a snack, since I was ahead of everyone else.

YNade by: Vy/aqar Siddhy

Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) [

Identify the grammatical error in the following sentence.

"Our society's fascination with celebrities lives has resulted in recent stalking incidents.'

Answer ( Please select your correct option ) v'l'l A inl Swens COm

Subject-verh agreement error

Punctuation error

Pronoun-antecedent agreement error

Apostrophe error

correct  (yYyade by: Yp/aqar Siddhu
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Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min)

Complete the sentence by choosing the best option.

Sarah wished to attend the dance party she did not have a proper dress.

Answer ( Please select your correct option )

VulAnswers.com

but

YNade by: Vy/aqar Siddhy

Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Choose the correct option.

""Whereas, no one could believe that she had married him."

Answer ( Please select your correct option )

VulAnswers.com

It is a comma splice.

It is a compound sentence.

Itis a compound-complex sentence.

Itis a sentence fragment.

correct (Y )ade by: Yp/aqar Siddhe

Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min)  [=)

Find the cause/effect word(s) in the sentence helow:

He saw starving children, therefore he helped.

Answer ( Please select your correct option )

VulAnswers.com

starving

helped

therefore

YNade by: Vy/aqar Siddhy
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Question No : 7 of 52

=

Marks: 1 (Budgeted Time 1 Min)

Fill in the blank with appropriate verb given helow.
on trying to pass her driving test but fails every time

VulAnswers.com

Answer ( Please select your correct option )

had kept

is keeping

kept

YNade by: Yy/aqar Siddhy
Marks: 1 (Budgeted Time 1 Min) (=

Question No : 8 of 52

Read the sentence and choose the appropriate option.

Before the hall, the imposter

himself so the guests wouldn't recognize him.

VulAnswers.com

Answer ( Please select your correct option )

disliked

dissembled

disengaged

disassembled

YNade by: YWaqar Siddhy
Marks: 1 (Budgeted Time 1 Min) (=]

-

Question No : 9 of 52

Read the sentence and choose the appropriate option.

During the middle ages, men often fought each otherin a

in order to settle serious disagreements.

VulAnswers.com

Answer ( Please select your correct option )

doll

YNade by: Vy/aqar Siddhy
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Question No : 10 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

Choose the correct option.
The first time you London was in 1963, wasn't it?

Answer ( Please select your correct option )

VulAnswers.com

visited

have visited

was visiting
@)

YNade by: Vy/aqar Siddhy

Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Choose the correct option in the following.

A is the expression of the meaning of a passage in a different way.

Answer ( Please select your correct option )

VulAnswers.com

paraphrase

elaborative writing

detailed description

YNade by: YWaqar Siddhy

Question No : 12 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Fill in the blank with appropriate verh given helow.

In Europe, a definite system of locating the annual cuttings
organized that an approximately equal yield is secured each year.

1 and government forests because under this system the forests can he so

Answer ( Please select your correct option )

VulAnswers.com

will have extensively used

has extensively used

is extensively used

extensively uses

YNade by: Vy/aqar Siddhy
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Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

Choose the hest answer from the given options.

It was an expensive vase they bought it to please their mother.

Answer ( Please select your correct option )

VulAnswers.com

but

neither

(@]

YNade by: Vy/aqar Siddhy

Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Choose the hest answer from the given options.

Those thugs should be arrested they will continue to terrorize the residents here.

Answer ( Please select your correct option )

VulAnswers.com

and

YNade by: YWaqar Siddhy

Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Fill in the blank with an appropriate word given helow.

California is an interesting place hecause one can find people from all

of life living together in harmony.

Answer ( Please select your correct option )

VulAnswers.com

works

results

YNade by: Vy/aqar Siddhy
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Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

Choose the hest option.
The dressed woman is my mother.

Answer ( Please select your correct option )

VulAnswers.com

attractive

attractively

attraction

(@]

Question No : 17 of 52

YNade by: Vy/aqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

Choose the correctly spelled word from the given options:

Answer ( Please select your correct option )

VulAnswers.com

Commitee

Question No : 18 of 52

YNade by: YWaqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

Choose the correct spelling from the given options:

Answer ( Please select your correct option )

VulAnswers.com

Vacinnate

Vaccinaate

Vaccinate

Vaccinnate

YNade by: Vy/aqar Siddhy
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Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

Choose the correct word or phrase to complete the following sentence.

I think I understand the nuts and of the operation.

Answer ( Please select your correct option )

VulAnswers.com

holts

(@]

Question No : 20 of 52

YNade by: Vy/aqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

Choose the correct word or phrase to complete the following sentence.

Just a moment! I've got the answer on the of my tongue.

Answer ( Please select your correct option )

VulAnswers.com

back

Question No : 21 of 52

YNade by: YWaqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

Indicate the correct form of verh in the sentence given helow.

He plays the piano in ajazz club.

Answer ( Please select your correct option )

VulAnswers.com

Infinitive

Present

YNade by: Vy/aqar Siddhy

For More Visit VU Answer



https://vustudents.pk/

For More Visit VU Answer

Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]|

Indicate the correct form of verb in the sentence given helow.

The population has increased by 6% since 1970.

Answer ( Please select your correct option ) vl 1 A inl Swens COm

Present

) YNade by: Yy/aqar Siddhy

Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

An opinion is a statement that cannot be ..............proved true or false.

Answer ( Please select your correct option ) Vl'l A nswers.ccm

successfully

suhjectively

comprehensively

ohjectively

YNade by: YWaqar Siddhy

Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Identify the correct sentence with properly placed commas.

Answer ( Please select your correct option ) v‘l'l A nswers.com

The moral of the story is that people should always, as a result, treat one another with kindness.

The moral of the story is, that people should always, as a result treat one another with kindness.

The moral, of the story, is that people should always as a result treat one another with kindness.

The moral of the story is that people should always as a result treat one another with kindness.

YNade by: Vy/aqar Siddhy
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Question No : 25 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

‘Which word in the following sentence should contain an apostrophe?

My parents and their friends often visit each others houses.

Answer ( Please select your correct option )

VulAnswers.com

other’s

house’s

parent’s
@)

Question No : 26 of 52

YNade by: Vy/aqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

Select the form of tense used in the sentence given below.Choose the best option.
‘Will she have heen working in this office since 2007?

Answer ( Please select your correct option )

VulAnswers.com

Present perfect continuous tense

Present perfect tense

Past perfect tense

Future perfect continuous tense

Question No : 27 of 52

YNade by: YWaqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

Fill in the blanks with appropriate preposition. Choose the best option.

The flight from Leipzig to London was Frankfurt.

Answer ( Please select your correct option )

VulAnswers.com

above

YNade by: Vy/aqar Siddhy
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Marks: 1 (Budgeted Time 1 Min)

Question No : 28 of 52

Choose the hest answer from the given options.

Those s

tudents -

--- to London tomorrow.

VulAnswers.com

Answer ( Please select your correct option )

h;

ave gone

is going

(@]

are going

YNade by: Yy/aqar Siddhy
Marks: 1 (Budgeted Time 1 Min) =

Question No : 29 of 52

Choose the best answer from the given options.

are

by the people.

Members of Parli

VulAnswers.com

Answer ( Please select your correct option )

represented

elected

YNade by: YWaqar Siddhy
Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 30 of 52

Choose the hest option.
The first digital computer was not completed until

VulAnswers.com

1943

Answer ( Please select your correct option )

YNade by: Vy/aqar Siddhy
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Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]|

‘What are the major qualities of a well-written paragraph?

Answer ( Please select your correct option ) vl 1 A inl Swens COm

Elahoration

Unity

Coherence

All of the above

) YNade by: Yy/aqar Siddhy

Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Choose the correct option:
The agreement hetween a noun and its pronoun is related to number, person and gender, and is
called

Answer ( Please select your correct option ) Vl'l A nswers.ccm

reference

agreement

point of view

YNade by: YWaqar Siddhy

Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Choose the correct option:

The thesis statement is the sentence that contains the focus of the thesis. The thesis statement is just like the in a paragraph.

Answer ( Please select your correct option ) v‘l'l A nswers.com

main hody

introduction

topic sentence

YNade by: Vy/aqar Siddhy
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Question No : 34 of 52

Marks: 1 (Budgeted Time 1 Min)  [=]|

Identify the missing punctuation in the given sentence.

John was angry and shouted at his son, “Go to your room now!"

Answer ( Please select your correct option )

VulAnswers.com

comma

question mark

speech mark

full stop
@)

YNade by: Vy/aqar Siddhy

Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Fill in the blank with appropriate choice.

You don’t listen to anyone. Do __ you like.

Answer ( Please select your correct option )

VulAnswers.com

like

Question No : 36 of 52

YNade by: YWaqar Siddhy

Marks: 1 (Budgeted Time 1 Min) (=)

You can open this tin.

Fill in the blank by choosing appropriate adverh.

Answer ( Please select your correct option )

VulAnswers.com

easy

simple

YNade by: Vy/aqar Siddhy
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Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]|

‘Which word in this sentence is an adjective?
Maggie made mountains of mushy muffins.

Answer ( Please select your correct option ) vl 1 A inl Swens COm

made

) YNade by: Yy/aqar Siddhy

Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Choose the hest option.

The mixture of fast and slow moving vehicles is the .................... of traffic problems.

Answer ( Please select your correct option ) Vl'l A nswers.ccm

worst

severest

strongest

greatest

YNade by: YWaqar Siddhy

Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Chose the hest option.
How money did they steal?

Answer ( Please select your correct option ) v‘l'l A nswers.com
a little

YNade by: Vy/aqar Siddhy
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Choose the hest option.

Iwent to the shop

Marks: 1 (Budgeted Time 1 Min)  [=]|

Answer ( Please select your correct option )

for buying

for buy

VulAnswers.com

buy

Question No : 41 of 52

Recall your knowledge ahout ‘Making inferences’ and identify the statements as True/False.

o
YNade by: Yy/aqar Siddhy
1. We make inference when the information is clearly stated.

Marks: 2 (Budgeted Time 4 Min)  [=]]

2. When the meanings of words are not stated clearly in the context of the text, they may he implied.

Answer ( Please click here to Add Answer )

x)

# |5 0 6 9 [ [ ]
== =e 2 u

VuAnswers.com

q

Question No : 42 of 52

YNade by: YWaqar Siddhy
Select the option which best describes the sentence.

Marks: 2 (Budgeted Time 4 Min)

Anabel realizes what she is doing, I think, but she doing it anyway.

=

s
Answer ( Please click here to Add Answer )

DeEal|heE

Ex 21 [ 29 64
[iiarmel

N A o B B |
s =20 =

VuAnswers.com

Waqar Siddh
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Question No : 43 of 52

Rewrite the fragment to make a complete sentence.

Marks: 2 (Budgeted Time 4 Min)
on the tahle by the old red chair

Answer ( Please click here to Add Answer ) v'l'l A inl Swens COm
TZEaR| | a5 G @ o]
[Normt | BT AR

1

YDNade by: Yy/aqar Siddhy

Marks: 2 (Budgeted Time 4 Min)  [=])

‘Write down any two goals of writing a paragraph

Answer ( Please click here to Add Answer )

VuAnswers.com
D@EaR|” A e |
[armet fanal =z =Ae 7 o H::Z = — = ==

q

Question No : 45 of 52

Waqar Siddby

Marks: 3 (Budgeted Time 6 Min) =)

Identify Simple, Compound, and Complex Sentences from the following.

1. Sarahbegan planning her summer vacation in December.
2. Because I left the play early, I missed the surprise ending.
3. Tanyawas invited to a party, so she wants to buy a new outfit.

Answer ( Please click here to Add Answer )
2P an TRl
[normal | =z

VuAnswers.com
#5069 @) o]
ez o

YNade by: Vy/aqar Siddhy
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min)  [=]|

‘What is meant by chronological order?

Answer ( Please click here to Add Answer )

VuAnswers.com

[Narmsi 5 | BT Bl G ouBE=

1

BEHER]| z«f_| 5 = |M|”u AL m@lwo%Jl

: Waqar Giddh

Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)  [=])

Describe one of the chief characteristics of a topic sentence.

Answer ( Please click here to Add Answer )

VuAnswers.com

[armel A | I | 2

q

DeEsnRy s ~|M| \[,11'T|@]100%_||

YNade by: Yy/aqgar $Iddhu

Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min) =)

Describe ‘Adverb’ with an example.

Answer ( Please click here to Add Answer )

VuAnswers.com

TedaRlrawEs e aEnngie lmn%jl

[Nermal = [ FlETEETNEE ===

YNade by: Vy/aqar Siddhy
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Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)

Join the ence fr: s given helow using cause and effect conjunctions.

0- They received a high mark on their exam.
They had studied hard.

You have the time.

Answer ( Please click here to Add Answer ) V'l'l A inl Swens COm

DFEER| [© & |85 G g | @ oo =]
[Narmat [ | | e B

4 YNade by: Vy/aqar Siddhy

Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) (=)

Express your views on the given topic in paragraph form. It should comprise of 100-130 words.

Do we hecome used to had news? Would it be hetter if more good news was reported?

Answer ( Please click here to Add Answer ) V]'l A nswers.cocm

e I A e Y R
[Narmel [ R EEEE =:

YDNade by: Yy/aqar Siddhy
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Question No : 51 of 52

Marks: 5 (Budgeted Time 10 Min)
‘Write an appropriate prefix in the blanks to make negative forms of the adjectives.

1. The new house is not similar to our old one except that it's a bit higger.

2. The organization insists that it is political and does not identify with any one particular party.
3.The ownership of the painting remains clear.

4.We're living in an perfect world.

Answer ( Please click here to Add Answer )

VuAnswers.com
DwEanr|y e I 8 e Y e ||
[Narmal [ Al s

q

YDNade by: Vy/aqar Siddhy

Marks: 5 (Budgeted Time 10 Min) (=)
Express your views on the given topic in paragraph form. It should comprise of 100-130 words.

‘What is your opinion ahout the welfare system?

Answer ( Please click here to Add Answer )

VuAnswers.com
e e e e e e D R |
[rarmel | [ana i | e i=

YNade by: YWaqar Siddhy

For More Visit VU Answer



https://vustudents.pk/

